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» Titrations

For each of the following acid - base tl}m“
combinations, determine the number Of =
moles of the first substance lis.ted tha .
be required to react with the given quat:
of the second:

a. NaOH with 1.0 mol HCI

b. HNO; with 0.75 mol KOH

¢. Ba(OH), with 0.20 mol HF

d. H,S0, with 0.60 mol Al(OH)s

0
© .. 1f 15.0 mL of 0.0250 Maqueousfl:rz‘sg
required to neutralize 10.0 mL 0 ;

- solution of KOH, whzt is the molarity of the

- KOH solution?

n a titration experiment, a 12.5-mL sample

of 0.0175 M Ba(OH, just neutralized 14.5
mL of HNOj3 solution. Calculate the molarity
of the HNOj solution.

L 1f 13.4 mL of 0.0230 M H3PO, is required to
neutralize 22.5 mL of Ba(OH), in a titration
experiment, determine the molarity of the
Ba(OH), solution.

. What volume of 0.50 VKOH would be
needed to neutralize 20.0 mL of 0.75 NV
HNO; solution?

)

;.. 1f 35 mL of 0.10 Nacid solution is neutral-

ized by 21.8 mL of a basic solution, what is
the normality of the base?

). 1f 12.5 mL of 0.200 3 H,SO, is required to

neutralize 27.5 mL of KOH solution, what is
the normality of the KOH solution?

. How many milliliters of 0.250 M H;PO, so-

lution would be required to neutralize 40.0
mL of 0.280 M Ba(OH),?

. If 18.5 mL of 0.350 M H,S0, neutralizes
12.5 mL of aqueous LiOH solution, how
many grams of LiIOH were used to make the
LiOH solution?




